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MIDTERM SOLVED MCQ’s 

MGT101- Financial Accounting 

Question No: 1    ( Marks: 1 )    - Please choose one
[image: image1.wmf] 

 Double entry accounting system includes:

       ► Accrual accounting only

       ► Cash accounting only

       ► Both cash and accrual accounting
       ► None of the given options

Question No: 2    ( Marks: 1 )    - Please choose one
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 What will be the effect on accounting equation, when payment is made to the creditor of the business?

       ► Increase in  an asset, increase in owner's equity

       ► Increase in an asset, increase in a liability

       ► Decrease in an asset, decrease in owner's equity

       ► Decrease in an asset, decrease in a liability
Question No: 3    ( Marks: 1 )    - Please choose one
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 Which of the following financial statement summarizes the profitability of an organization for a particular period?

       ► Balance Sheet

       ► Trading and Profit & Loss account
       ► Cash Flow Statement

       ► Statement of Retained Earnings

Question No: 4    ( Marks: 1 )    - Please choose one
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 Which of the following account balance will be shown on debit side of Trial Balance? (It is assumed that all account balances are shown on normal balance) 

       ► Cash account 

       ► Furniture account

       ► Vehicle account

       ► All of the given options
Question No: 5    ( Marks: 1 )    - Please choose one

[image: image5.wmf] 

 Which of the following is NOT a type of voucher?

       ► Journal Voucher

       ► Receipt Voucher

       ► Payment Voucher

       ► Drawings Voucher
Question No: 6    ( Marks: 1 )    - Please choose one
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 What would be the value of total factory cost, if the cost of material consumed during the month is Rs. 6,000, labor cost incurred is Rs. 2,000 and the factory over head cost is Rs. 2,500?  

       ► Rs. 6,000

       ► Rs. 8,000

       ► Rs. 4,500

       ► Rs. 10,500
Question No: 7    ( Marks: 1 )    - Please choose one
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 All the costs incurred on the incomplete assets up to the balance sheet date must be transferred to: 

       ► Capital account

       ► Capital work in progress account
       ► Relevant asset account

       ► Owner's equity account

Question No: 8    ( Marks: 1 )    - Please choose one
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 Accounting is the language of:

       ► Business

       ► School

       ► Proprietor
       ► Management 

Question No: 9    ( Marks: 1 )    - Please choose one
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 An accounting system is used by a business to: 

       ► Analyze transactions

       ► Handle routine book-keeping tasks

       ► Classify and summarize financial information

       ► All of the given options
Question No: 10    ( Marks: 1 )    - Please choose one
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 Mr.” A” sold goods for Rs. 300,000 to Mr. “B”,   Rs. 300,000 will be treated as _____________ for business of Mr. "A".

       ► Revenue
       ► Net profit

       ► Gross profit
       ► Operating profit 

Question No: 11    ( Marks: 1 )    - Please choose one
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 Normally the practice of Book Keeping under Single Entry System is followed by:

       ► Small businesses only  

       ► Governments only

       ► Large scale businesses only 

       ► Both small businesses and governments 

Question No: 12    ( Marks: 1 )    - Please choose one
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 The amount brought by the proprietor in the business should be credited to:

       ► Cash account

       ► Capital account
       ► Drawings account

       ► Assets account

Question No: 13    ( Marks: 1 )    - Please choose one
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 Which of the following shows a debit balance under normal circumstances?

       ► Asset
       ► Capital

       ► Liability

       ► Profit

Question No: 14    ( Marks: 1 )    - Please choose one
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 Which of the following is/are TRUE with respect to the rules of Debit & Credit?

       ► Increase in capital is Credit
       ► Decrease in capital is Debit
       ► Increase in expense is Debit
       ► All of the given options
Question No: 15    ( Marks: 1 )    - Please choose one

[image: image15.wmf] 

 Wages of workmen employed for setting up new machinery should be debited to:

       ► Expenses account

       ► Wages account
       ► Salaries account

       ► Machinery account

Question No: 16    ( Marks: 1 )    - Please choose one
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 Which of the following account would be debited in case of goods given away as charity? 

       ► Charity account
       ► Purchases account

       ► Sales account

       ► Assets account

Question No: 17    ( Marks: 1 )    - Please choose one
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 Which of the following is the process of equalizing two sides of an account?

       ► Balancing
       ► Posting

       ► Journalizing

       ► None of the given options

Question No: 18    ( Marks: 1 )    - Please choose one
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 Trial balance shows:

       ► Both debit and credit balance
       ► Only debit balance

       ► Only credit balance

       ► Debit or Credit balance

Question No: 19    ( Marks: 1 )    - Please choose one
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 What is the objective of a Balance sheet?

       ► To ascertain the true profit or loss of business

       ► To ascertain the true financial position of business
       ► To make the SWOT analysis of business

       ► To check the arithmetic accuracy for books of accounts

Question No: 20    ( Marks: 1 )    - Please choose one
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 Which of the following account would be debited when the owner of business sold machinery of Rs. 10,000 on cash?

       ► Sales a/c

       ► Machinery a/c
       ► Owner a/c

       ► Cash a/c
Question No: 21    ( Marks: 1 )    - Please choose one
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 Which of the following is TRUE for Company’s negative working capital?

       ► Current Asset > Current Liability 

       ► Current Asset = Current Liability

       ► Current Asset < Current Liability 

       ► None of the given options

Question No: 22    ( Marks: 1 )    - Please choose one

[image: image22.wmf] 

 What will be the effect of decrease in closing stock on gross profit?

       ► Gross profit increased 

       ► Gross profit decreased 

       ► No effect on Gross profit

       ► Gross profit will become positive

Question No: 23    ( Marks: 1 )    - Please choose one
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 What is the value of closing raw material inventory based on the following information?

· Opening stock Rs. 1,000

· Cost of material used Rs.  Rs. 9,500 

· Cost of material available for use Rs. 10,000

       ► Rs. 9,000

       ► Rs. 500
       ► Rs.11,500

       ► Rs. 8,500

Question No: 24    ( Marks: 1 )    - Please choose one
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 If:

· Direct Material Cost is Rs. 15,000

· Factory overhead is Rs. 5,000

· Manufacturing  Cost is Rs. 30,000

Then:

         
What is the amount of Prime Cost?

       ► Rs. 25,000

       ► Rs. 20,000
       ► Rs. 35,000

       ► Rs. 45,000

Question No: 25    ( Marks: 1 )    - Please choose one
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 If:

· Direct Material Cost is Rs. 15,000

· Factory overhead is Rs. 5,000

· Prime Cost is Rs. 30,000

Then:

         
What is the amount of Manufacturing Cost?

       ► Rs. 20,000

       ► Rs. 10,000

       ► Rs. 35,000
       ► Rs. 45,000

Question No: 26    ( Marks: 1 )    - Please choose one
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 If:

· Manufacturing Cost is Rs. 30,000

· Closing Work in Process Inventory is Rs. 10,000

· Cost of Goods Manufactured is Rs. 35,000

Then:

         
What is the amount of opening Work in Process inventory?

       ► Rs. 40,000

       ► Rs. 15,000
       ► Rs. 25,000

       ► Rs. 20,000

Question No: 27    ( Marks: 1 )    - Please choose one
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 Which of the following would be required for the calculation of depreciation under Reducing Balance method? 

       ► Cost of asset

       ► Expected Life of asset

       ► Depreciation rate

       ► All of the given options
Question No: 28    ( Marks: 1 )    - Please choose one
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 Firms charge depreciation each year:

       ► To ensure that there is enough money in the firm to replace the asset

       ► To spread the cost of the asset over its working life
       ► To reduce the profit and thus reduce the dividends they can pay to shareholders

       ► Because the law states they must be reduced

Question No: 29    ( Marks: 1 )    - Please choose one
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 Which of the following is another name of salvage value?

       ► Face value

       ► Fair value

       ► Break up value
       ► Book value

Question No: 30    ( Marks: 1 )    - Please choose one
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 What is the treatment of Depreciation in accounting?

       ► Written in balance sheet under the head of fixed assets

       ► Charged to profit and loss account
       ► Written in balance sheet under the head of current assets

       ► Written in balance sheet under the head of liabilities

Question No: 31    ( Marks: 1 )    - Please choose one
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 If:

· Cost of machine = Rs. 400,000

· Useful life = 5 years

· Sale price at the end of 4th year = Rs. 40,000

What will be the profit or loss on disposal of machine using straight line method?

       ► Loss of Rs. 40,000
       ► Profit of Rs. 40,000

       ► Profit of Rs. 80,000

       ► Loss of Rs. 80,000

Question No: 32    ( Marks: 1 )    - Please choose one
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 Which one of the following is NOT the component of cost?

       ► Import duty

       ► Installation cost

       ► Cost of site preparation
       ► Transportation outwards
Question No: 33    ( Marks: 1 )    - Please choose one
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 Which of the following is TRUE about the revaluation of fixed assets?

       ► Revaluation should be carried out at a regular interval
       ► Revaluation should be carried out at irregular interval

       ► Revaluation should be carried out by stakeholders

       ► Revaluation should be carried out by stockholders

Question No: 34    ( Marks: 1 )    - Please choose one
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 When Pass Book shoes a debit balance it means:

       ► Favourable balance as per cash book

       ► Unfavorable balance as per bank statement
       ► Debit balance as per cash book

       ► Favourable balance as per bank statement

Question No: 35    ( Marks: 3 ) 
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 Calculate the rate of depreciation for the asset with the help of given data.

	Cost of the asset
	Rs. 1,20,000

	Residual Value
	Rs. 40,000

	Expected Life 
	5 years


Solution:

120,000-40,000= 80,000

80,000/5 = 16000

Rate= 16,000/80,000= 20%
Question No: 36    ( Marks: 5 ) 
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 How the stock valuation is made under the following methods?

· FIFO 

· LIFO 

Under FIFO we assumed that stock purchased first is used out first so the closing stock consist of stock purchased last the rate shows approximately the latest of last purchases price .

Under LIFO bases : stock purchase last is used first so the items present in the stock are the item old once and thus it represent older prices , lifo is not used in industry now and accounting standards prohibit using them.

Question No: 37    ( Marks: 5 ) 
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 If:

· Original cost of fixed asset Rs. 500,000

· Accumulated Depreciation Rs. 166,667

· Revalued amount of fixed asset Rs. 600,000

Required:

Calculate the Written down value and Surplus on revaluation of fixed asset

Solution : 

· Revalued amount 600,000-(500000-166667)=266667

       WDV= 500,000-166667=333333
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